STATISTICS - EXERCISE

If in an examination different weights are assigned
to different subjects Physics (2), Chemistry (1),
English (1), Mathematics (2) A student scores 60 in
Physics, 70 in Chemistry, 70 in English and 80 in
Mathematics, then weighted mean is-

(1) 60 270 (3) 80 (4) 85

If the mean of the series x, x,,, ...... ,X_is X, then
the mean of the series x + 2i,i=1,2, ........ , nwill
be-

(1) Xx+n 2)X+n+1 B x+2 @ xXx+2n

The mean of the following freq. table is 50 and
>f =120

class | 0-20|20-40 | 40-60 | 60-80 | 80-100

f 17 f; 32 f, 19

the missing frequencies are-

(1) 28, 24 (2) 24, 36

(3) 36, 28 (4) None of these

A student obtained 75%, 80%, 85% marks in three
subjects. If the marks of another subject is added
then his average marks can not be less than-

(1) 60% (2) 65% (3) 80% (4) 90%
The mean deviation of the series a, a + d,
a+2d, ... ,a+ 2nd from its mean is-
n+1 n(n+1)
@ 14! Gy
nin-1)
(3) on il Idl (4) none of these

The A.M. of n observation is X. If the sumof n—4
observations is K, then the mean of remaining
observations is-

x-K nx-K
)= @~
nx-K nx - (n-4)K
® =3 @ =
11
The mean of values L.—,—......— which have
23 n
frequencies 1, 2, 3, ........ nresp., is :-
2n+1 g n+1 2
3 @) n 2 n+l1

The weighted mean of first n natural numbers when
their weights are equal to corresponding natural
number, is :-

1 n+l 2n+1

1= @ =
+1)(2n+1

3) uﬁ) (4) None of these

10.

11.

12.

13.

14.

15.

16.

The average income of a group of persons is X
and that of another group is V. If the number of

persons of both group are in the ratio 4 : 3, then
average income of combined group is :-

X+y 3x+4y
(1) A 2) 7
4x+3y
7 (4) None of these

The geometric mean of the first n terms of the series
a, ar, ar?, ...., is-

(1) arv? (2) arm (3) arb2  (4) ar~?
Median of the following freq. dist.
X, |3|6[10(12| 7 |15
t 13|42 |8 (13|10
(1) 7 (2) 10
(3)8.5 (4) None of these

Mean deviation from the mean for the observation
-1, 0, 4 is-

W5 @ 3

(3) 2 (4) none of these

10 10
If Z:(xi -15)=12 and Z:(xi ~15)* =18 thenthe

i=1 i=1

S.D. of observations X, X, ............ X, 198

2 3
Wz @

4
3) 5 (4) None of these
The variance of seriesa, a+d,a + 2d, ..... ,a+ 2nd
is :-

nin+1) , nin+1)

—d —d
1) = @

nin+1) , nin+1) »
@ e —d @ S
The variance of 2, 4, 6, 8, 10 is-
(1)8 (2) V8
(3)6 (4) none of these
The standard deviation of variate x, is 6. Then
standard deviation of the variate aXi: B ,
where a , b, ¢ are constants is-
(1 (ijc @ 3o

¢ c

aZ
(3) {—2] c (4) None of these

c
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17. The AM. of theseries 1, 2,4, 8, 16, ...... ,2nis- | 25. A group of 10 observations has mean 5 and S.D.
1 2" -1 9 gl 3) 2" -1 @) gatl _q 2./6 - another group of 20 observations has mean
n n+1 n+1 n
18. The mean of values 0, 1, 2, ...... , N when their 5andS.D. 3,/2 , then the S.D. of combined group
weightsare 1,°C,,"C,, ..., "C , resp., is of 30 observations is :-
P n+1 A n
n 1) 5 2) 245
(1)r1+1 @) 2 (3) n(n+1) (4)2 15 @)
19. The S.D. of first n odd natural numbers is :- (3) 345 (4) None of these
21 21 21 2_1 26. Some particulars of the distribution of weights of
(1) 5 (2)\/ 3 (3)\/ 3 (4)\/ 12 boys and girls in a class are given below :
20. The mean of n values of a distribution is X . If its Bogs 3lris
first value is increased by 1 | second by 2, .... then Number 100 50
the mean of new values will be- Mean Weight 60 kg 45 kg
W Variance 25 9
(1) x+n (2) X*5 Which of the distributions is more variable ?
(1) Boys
@)X+ (4) None of these RE
(3) Variation in both the distributions is same
21. A man spends equal ammount on purchasing three (4) Data insufficient
kinds of pens at the rate 5 Rs/pen, 10 RS/ PENL | 97 The mean of Mathematics marks of 100 students
20 Rs/pen, then average cost of one pen is :-
35 of a class is 72. If the number of boys is 70 and the
(1) 10 Rs 2) = Rs mean of their marks is 75. Then the mean of the
marks of girls in the class will be-
(3) @ Rs (4) None of these (1) 60 (2) 62 (3) 65 (4) 68
7 ‘ 28. In an experiment with 15 observations on x, the
22. The average age of a teacher and three students is following results were available ¥x2 = 2830,
20 years. If all students are of equal age and the — 170. One ob oon th 20 found
difference between the age of the teacher and that 2x = e O_ Servaugn drat Wa_s WreSEIaUED
of a student is 20 years, then the age of the teacher to be wrong and it was replaced by its correct value
is- 30. Then the corrected variance is-
(1) 25 years (2) 30 years (1) 8.33 (2) 78 (3) 188.66 (4)177.33
23 S)egiSar?eoafr Szn C_ mC C(4) 4522?5 (when n is 29. In a series of 2n observations, half of them equal
) averis: o T T2 T a and remaining half equal —a. If the standard
. deviation of the observations is 2, then lal equals
(1) "Ca (2) *"C,
2 2 1 V2
, (1) 2 2 V2 3) 0 (4) Y
3 Cnn (4) None of these
2 30. Letx ... ,X_be n observations such that
24. Themedian of 19 observations of a group is 30. If 5 )
two observations with values 8 and 32 are further > x{ =400 and )" x, = 80 . Thena possible value
glbcshel;ive;ti Otze\;liﬁ}tl)ee median of the new group of 21 of n among the following is -
W28 @30 @32 @34 iz @9 @18 @15
ANSWER KEY
Que. 1 2 3 4 5 6 7 8 9 10
Ans. 2 2 1 1 2 3 4 2 3 3
Que. 11 12 13 14 15 16 17 18 19 20
Ans. 3 3 2 2 1 2 2 4 2 3
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 3 3 2 2 2 1 3 2 1 3




